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September-
October, 2013

First Year Higher Secondary Improvement Examination
Part — 1l
ECONOMICS
Maximum : 80 Scores

Time : 2V2 Hours
Cool off time : 15 Minutes

~

General Instructions to Candidates :

* Thereis a ‘cool off time’ of 15 minutes in addition to the writing time of 21 hrs.

* You are not allowed to write your answers nor to discuss anything with others
during the ‘cool off time’.

* Use the ‘cool off time’ to get familiar with questions and to plan your answers.

* Read questions carefully before answering.

* All questions are compulsory and only internal choice is allowed.

* When you select a question, all the sub-questions must be answered from the
same question itself.

* Calculations, figures and graphs should be shown in the answer sheet itself.

* Malayalam version of the questions is also provided.

* Give equations wherever necessary.

* Electronic devices except non programmable calculators are not allowed in
the Examination Hall.
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1. Match column ‘A’ with ‘B’ and ‘C’

(Score : 4)
A B C
. Fundamentai
a) | Scarcity 1995 right
ek A Alternative
b) {Index Number | compulsory
. Uses
education
c) |[wTO Economic 1y ation
problem
’ o .
86 o Wholesale Multilateral
d) | Constitution . Trade
Price Index
Amendment Agreements

2. Mention any two government

organisations that regulate

education sector in india. (Score : 2)

3. Classify the following sources of

energy into conventional and non
conventional. Coal, Sun, Wind,

Petroleum.

4. Prepare a frequency distribution
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table from the following data taking
a class interval of 4.
10 17 15 22 11 16 19 24

2 11 25 26 32 14 17 20

23 27 30 12 15 18 24 39
18 15 21 28 33 38 34 13

10 16 20 22 29 19 23 31.
(Score: 4)
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(Score : 2)
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10 17 15 22 11 16 19 24

29 11 25 26 32 14 17 20
23 27 30 12 15 18 24 39
18 15 21 28 33 38 34 13

10 16 20 22 29 19 23 31.
(Score : 4)
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5. Using scatter diagram, represent

the following types of correlation.

a) Positive correlation

b) Negative correlation

¢) No correlation

d) Perfect positive correlation

e) Perfect negative correlation
(Score : 5)

It is a known fact that farm sector
in India is overcrowded. An
increasing labour force need to
find alternative employment
opportunities. Suggest some
alternative livelihood options.

(Score : 3)

. The following table shows monthly

expenditure of two families. Present
the data by means of a component
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bar diagram. (Score : 4) WMo MYINIBNH.  (Score : 4)
ltem Family A | Family B oMo | dxSjoenio A | &isjosnlo B
- 150 350 BHH6MO 150 350
Clothing 38 120 Qo 38 120
Rent 56 130 (Hose 56 130
Medical 24 68 GOEOIN 0 24 68
Others 70 95 DRSS 70 95
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8. Government has given prime
importance to poverty alleviation
since independence. Prepare a
seminar report on the policies and
programmes implemented in India
for poverty eradication. (Score: 8)

State whether the following
statements are true or false.

9. Statistics is used in finding
relationship between different
economic variables. (Score : 1)

10. Classification of a group of
population based on their age is
an example for qualitative
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(Score : 8)
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9. allaflw oMUIET & ARISEEM3 %D
®oN1aR8s aldqYE MM &Ee6Ne
OmOM qRoFI 1y Hale@om]
BN, ‘ (Score : 1)
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classification. (Score : 1) AUBG BB BOM® (FEMlODOW
QURGleem@TINY HEIAOREMEO6M.
11. Consumer price index is also (Score : 1)
known as the cost of living index. 11. 9ateeoamyaller cyolle @lalo
(Score: 1) eajeiay miafle egmie erclw
LIS et (Score: 1)

12. During the colonial period Indian

foreign trade did not generate e

auoeleR \ATIlENeS M IHE) HQE)

. 1
exporL sl (Scare: 1) oafl ol ojo aldlafloyrrilel. (Score : 1)
13. Distinguish between census 13. oMMy aVAGAL, ooalltd TudEA
survey and sample survey. ag)ilal moxlepss alymjomo
(Score : 3) B6)6BOTT . (Score : 3)
14. Compare the development path 14. @M MImEo 0B allomysdam

followed by India afterindependence ANV A l0®OW, aldHe] Ao M

with that of Pakistan and China.
(Score : 4)
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16.

17.

18.
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Which of the following countries have
the highest adult literacy rate ?

a) China

b) Pakistan

¢) India

d) Chinaand India (Score : 1)

Briefly assess the impact of New
Economic Policy on Indian
Economy. (Score : 4)

Study the following table and
comment on the worker-population

15.

16.

17.
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¢) oy
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ratio in India. (Score: 3)
Worker-Population Ratio
Sex
Total | Rural | Urban
Men 52.7 53.1 51.8
Women | 254 29.9 13.9
Total 395 | 417 33.7
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Find the odd one and justify your
answer. (Score : 3)
a) Caption, Stub, Frequency,
Footnote
b) Jawaharlal Nehru, Dadabhai
Naoroji, VKRV Rao,
R.C. Desai

c) Ayurveda, Allopathy, Sidha,
Unani
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19. Calculate range and co-efficient of

range of the following series.

(Score : 3)
Class 10-20 { 20-30 | 30-40 | 40-50 | 50-60 { 60-70 | 70-80
Frequency 7 9 16 32 16 15 21

20. Sustainable development requires

some new strategies for

development. Identify any six of

them.

21,

(Score : 3)

The following table shows marks

scored by 230 students in an

examination. Find mean median

and mode of the series (Score : 8)
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Marks Frequency
More than 25 230
More than 30 225
More than 35 213
More than 40 196
More than 45 170
More than 50 125
More than 55 fi=
More than 60 23
More than 65 10

19.
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OV |10-20|2C-33{30-20| 20-50 {50-60{60-70{70-80
@oayenl| 7 | 2 | "z | 32 | 16 | 15 | 21
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20AHE) @R @YS)]
More than 25 230
More than 30 225
More than 35 213
More than 40 196
More than 45 170
More than 50 125
More than 55 75
More than 60 23
More than 65 10
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23.

24.

25,
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Daily wage earned by 40 workers

is given below. Calculate Standard

Deviation. (Score : 5)
Wages | No. of workers
50 2
100 5
150 9
200 14
250 8
300 2

India has certain advantages
which make it a favourite
outsourcing destination. What are

these advantages ? (Score : 2)

Write a note on the industrial Policy
Resolution (IPR) 1956. (Score : 3)

List the steps involved in the

maxing of a project. (Score : 2)

22.

23.

24.

28,
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50 2
100 5
150 9
200 14
250 8
300 2
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